UNIFIED
PAGE 31 FOUR WHEEL

PATENT RAIL AND SAFETY TROLLEYS

STANDARD SHAPES 4000 POUND
TROLLEYS MAX. RATED LOAD

10060
10061
Model Number Features
10060 BT-325-10 for operation on 3.25/3.33" Patented dual safety clevis
flange flat rail High tensile almag alloy frames
10061 BT-325-10-DHS for operation on 4.81" diameter heavy duty load wheels
3.25/3.33" flange flat rail Hardened and ground ball bearing side
10062 BT-333-10 for operation on 3.33" thrust rollers
flange 6" S-Beam Minimum track radius is 10-0"
10063 BT-333-10-DHS for operation on
3.33" flange 6" S-Beam Options
Application Available with dual hanging straps for
PP o . suspension of heavy hook mounted loads.
Used in pairs for heavy load bridge crane end Rod ends come with dual hanging straps
truck assemblies for Safety cable.
For suspension of portable tools, balancer, Available with universal swivel assembly

hoists, fixtures etc.

For bridge beam trolley with optional dual
hanging strap designated by DHS.

© Copyright 2010, Unified Industries, Inc. Www.unified-ind.com




MNINOG JONFdd49d o SNOISNIWIO Ty =

SaM3 Jod AWy A19n3EssyY

\luqﬁkm SNIGNYH TNa TYNCLLH0

[wuweg] 2/t ¢

HLQl 39Mw1d [a'pB]L0T v
HLM WY3E 95 NO NOWYH3IdO €04

Ol—2££x—18 <2001

=

[wwge] #/¢ ¢

PAGE 32

THIHA HN0LNDD
[zz1] 2o

108 L1

s
i

[wwszz] L8/ 8

Ww3g 95 Hod [9v8] 0T

vy Ly1d w04 [awe] LsEE

39NV JI¥4ENS SNINNNY 40

HLQIM LOwX3 Ad193dS 3S¥T0d ONIMITHD NIHM

ONMOYS % QINITYH

SNIYYIE TIVE SyITION LShyHL 3aIS
SAIOYY WNWINIE ,0—0L

TWNQILDO DMLY

3sv¥IND W [B1] F/C anNLsS TIIHM
QIENOLNDD MO 114

g[8z L8y

TIIHM QyY ITSNAL HOIH “AdCE
(B3 +'22) 581 05 LHDI3m

(B3 +1817 5871 030t *avd1 J3lvd

SNOILYOEII3dS A3TIOHL

J10ON OL=¢Ee—=18 40 01-57¢—19
“HLN, IOV
[gvglocc wo [veelgee
WOUWY V1 NG NOWYHE3d0 d04
Ol—52e—19 09001 w
w
e
uee] 2/t = = WIA IO NCAAOD
:
2. + +
a/ e L @ @ * -
= [ )3 ;s
. — g 3
; ; 3 3
AWRINS 3DVAHNS ( 1Y e [ E
ANINN Y ONINNMY +

THIHM H0ALNDD
[ezi] 2ve

[wwgzz] .6

Si31a| A1a4vs
[wwirz] 2/ B

[ [wwpGy] 8/ §— =

d.com

in

ied-

f

uni

© Copyright 2010, Unified Industries, Inc. WWW



BT-325-10, BT-333-10, BT-325-10-DHS, BT-333-10-DHS
REF. STOCK CODE DESCRIPTION QUANTITY

1 15033 Guide Roller Assembly 4

3044-1 1.62 G. R. Bearing
7/16" x 2" Spring Pin

2 30300 3046 Flat Wheel Sub-Assembly
4.8" Flat Wheel

Snap Ring

Wheel Bearing

Stud

Spacer

3/4" Flat Washer

3/4" Nylon Insert Jam Nut

3 61110 Safety Strap
4 53240 5/8" Flat Washer
5 52255 5/8" Nylon Insert Lock Nut
6 52400 1" Slotted Hex Nut
7 54083 5/32" Cotter Pin
8 51020 5/8" Hex Bolt
9** 50102 5/8" Rod End
10 51550 1" Hex Bolt
11 55610 Spacer
12** 15110 DHS-5012-1 Hanger Strap Sub-Assembly
1" Hex Bolt

1" Slotted Hex Nut
3/16" Cotter Pin
Spacer

Hanger Strap

3/4" Hex Bolt

3/4" Slotted Hex Nut
5/3" Cotter Pin

3/4" Washer

Ao AN AR 2 a NN NNMNNARMRMARNMARADN DA

** For DHS Option Only

BT-325-10, BT-333-10, BT-325-10-DHS, BT-333-10-DHS OPTIONS
(See Pages 20 for Optional Wheels)

STOCK CODE DESCRIPTION
30320 3047 4.8" Contour Wheel Assembly
30390 3061 4.8" Brass Flanged Wheel Assembly

© Copyright 2010, Unified Industries, Inc. Www.unified-ind.com

17



OPTIONAL WHEEL ASSEMBLIES

4.62" DIA. WHEEL

BRASS 3029 - Contour (Shown) (30270)
4.5" DIA. FLANGED WHEEL Single Bearing
3030 - Flat or Contour / Brass (30380) 3011 - Flat (30250)

3005 - Flat / Double Bearing (30290)
3038 - Contour / Double Bearing (30240)

4.8" DIA. WHEEL BRASS
3047 - Contour (Shown) (30320) 4.8" DIA. FLANGED WHEEL
3046 - Flat (30300) 3061 - Flat (Shown) or Contour Brass
(30390)

© Copyright 2010, Unified Industries, Inc. Www.unified-ind.com

20





